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1 (a)
The given equation of curves are
y=sinx ..(i)

and y = cosx ...(ii)

From Egs. (i) and (ii), we get
I
sinx = cosx =>x=—
4
~ Required area = f:M( cosx — sinx)dx

PN

= [sinx + cos x]§/*

_(_ T[+ T O)
= Sll’14 COS4—COS

[1 1 1
-7z
=%—1=(ﬁ—1)squnit
4 (d)
2
y=[3+z]=3,—2<x<2
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¥,
(0,4)
y=3
X
(-2, o)fa(: 10 x= 11(2; 0)
y=4- x2
Required area = 2{ 01 (4 —x¥)dx — 3}
3.1
= 2{ 4x —x—] — }
31y
= 2{4 ! 3}
= -3~
=3 squni
(d)
x2 12
The given eqution of curve can be written as vy + 5= 1

Here,a=2,b=3

~ Required area = ab
=mX2X3

= 67 sq units

(a)

On solving the given curves, we get
y=tlandx=-2

~ Required aerea =

f_ 11(x1 i Xz)d}"

1
f (1-3y*+ 2y2)dy‘
—1

x+3y°= 1( o

=2-1)
1

= |2 f (1—y2)dy‘
0

1
-]
-3
0
— 4 1
=3 Sq units

(d)
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Required area = Zflz (—x*>43x—2)dx (+ bothportions are same)

s
-2
y=xc-3x+2
O] \NED
/M}=—x2+3x—2
x=1 x=2
%3 32 2
:2-—?4'7—2361
—2- 8+6 4 ( 1+3 2)]
3T T U3t
—2- 8+2+5]—1 it
=2|—3 3 —3squn1
11 (b)
Let A be the required area. Then,
3 3 3
1= = [r-[a] -5
)T AT 2] T12 7
0 0
Y Pt
y=3
..... 2' 3
o )
X X
(0]
YJ
13 (b)

Given curve can be rewritten as
2
x—1D"==-(y—-1)

f
|

’ 29 .
N

v,

Y

The curve cut the x-axis at (0,0) and (2,0)

2
~ Required area = f (2x — x%)dx
0

2
2 x?
=|x _E
0
4 it
= — sq units
3 q
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15 (c)

. T . 2 .
Required area = fo x sinx dx + |f7r x sinx dx
¥

Y==x y=x
y=xsinx

2n A

= { —xcosx + sinx}q + |{ — xcos x + sinx},zrn|
=m+0)—0+0)+|(—2n+0)—(m+0)
=mn+3m

= 41 sq unit
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ANSWER-KEY
Q. 1 2 3 4 5 6 7 8 9 10
A. A D C D B B D A D B
Q 11 12 13 14 15 16 17 18 19 20
A B C B C C C B B A D
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